Page 1-6 2001/2002 DS Golf Cars lllustrated Parts List



REAR BODY AND FENDER — GASOLINE VEHICLE

ITEM PART NO. DESCRIPTION QTY
1.2 3 4

1 8251 Screw, Phillips Head, 1/4-20 X 1 ..eoiiii oot 10
2 101904101 o o =T = T Yo | (o R 1
3 1014306 Washer, Flat, Type B, 1/4 ...t 2
4 1012412 Plate, Body HINGE .....eeiiiiiieiee e e 2
5 332 ATAT 1] T g = R 10
6 8233 | Nut, NYION LOCK, 1/4-20 ....ccueeiiiiiee it 12
7 1013032 DoO0r, ACCESS — BIACK ...ueeeiieeeeee e 1
7 1013140 DOOr, ACCESS — BEIGE ..oiiiiiiiiii e 1
8 1015525 | Nut, BIiNd, 1/4-20 ....ooiiieiieiiee e e 2
9 101692601 BOAY — BIGE .. .eeeeiiiiiie it 1
9 101692602 | BOAY —WHIE ...ooiiiiieiiie ettt e e ne e e e enee e e nneeas 1
9 101692604 | BOGY — GrAY ....eeeiieieieiiieeiiteee st e st sn et e s s e e e sne e e sar e e e s ane e e snneenanneeesnneas 1
9 101692606 | BOAY — REA ....eeiiiiieie ettt nr e nneas 1
9 101692609 | Body — Royal Blue (Pacific BIUE) ......cocueeiiiiiiiiiiiie e 1
9 101692610 BOAY — DArK GIrEEN ....eeiiiiiiiiee ettt e e e e s e e e e 1
9 101692611 BOAY — BIACK ..ttt e nane e 1
9 101692612 Body — ClassiC BIUE (NAVY) ....coiiiiiiiieiiiiiie ettt 1
9 101692613 | BOAY — BUIQUNAY ...ooiiiiiiiiiie e 1
10 101696208 Body with Taillight Opening — BEIgE .......cccooiiiiiiiiiieiee e 1
10 101696209 | Body with Taillight Opening —WhiIte .........ccoiiiiiii e 1
10 101696211 Body with Taillight Opening — Gray ........cccccceiiiiieieiiiiiee e 1
10 101696213 Body with Taillight Opening — Red ........ccciiiiiiiiiiii e 1
10 101696215 Body with Taillight Opening — Royal Blue (Pacific Blug) .........ccccoociieiiiiiiiennniee, 1
10 101696216 | Body with Taillight Opening — Dark Green ..........coccueiviiiiiiieee e 1
10 101696219 Body with Taillight Opening — BIack ..........cooiuiiiiiiiiiiii e 1
10 101696220 Body with Taillight Opening — Classic Blue (Navy) .......ccccoiiiiiiiniiieneiieee e 1
10 101696221 Body with Taillight Opening — Burgunady ..........cccccoeiiiiieieiiiee e 1
11 1017748 | Clip, BOAY KEEPET ....ciiiiiiiiiiei ettt ettt ettt enn e e ane e 2
12 1012047 Screw, Self-Tapping, #8-32 X 3/8 .....ccii i 2
13 7847 Screw, Hex Head Cap, 1/4-20 X 3/4 ...ttt 4
14 1017936 =T oo (<Y A o] a1 SRR PRORRRPPRt 2
15 1017141 SUPPOrt, FIONT BOAY ....eeiiiiiiiiiiee e 1
16 1015032 | Mat, FIOOK ...t e e e 1
17 102221201 Pad, WA ...ttt ae e e s are e nanee e 2

2001/2002 DS Golf Cars lllustrated Parts List Page 1-7



